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LAW

Paper - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

1.

questions are compulsory.

The word ‘Secular’ was added in the

Preamble to the Constitution of India by
(A) First Amendment Act

(B) Seventh Amendment Act

(C) Forty-Second Amendment Act
(D) Forty-Fourth Amendment Act

Article 15(1) prohibits discrimination

against any citizen on the grounds of

(A) Religion, race and caste only.

(B) Religion, caste and sex only.

(C) Religion, caste, sex and place
of birth only.

(D) Religion, race, caste, sex, place
of birth or any of them.

Match List-1 with List-1l and select
the correct answer using the codes

given below :
List—1 List - 11
I. Deletion of (a) Constitution
fundamental (Forty-Second
right to freedom Amendment)
to acquire, hold Act.

and dispose of
property.

. Insertion of the

(b) Constitution

word ‘integrity’ (Forty-Fourth
to the Preamble Amendment)
of the Act.
Constitution.

I11. Inclusion of (c) Constitution
right to (Eighty-sixth
education as Amendment)
fundamental Act.
right under
Article 21A

IV. Insertion of (d) Constitution
Clause(5) in (Ninety-Third
Article 15. Amendment)

Act.

Codes :

I n 1w

(A) (b)) (@ () (d)

B) (@ (b) (c) (d)

(C) (b) (a8 (d) (c)

(D) () (b) (a) (d)

Paper-I1

4.

Which provision of the Constitution
imposes a duty on the Union to ensure
that the Government of every State is
carrying on in accordance with the
provisions of the Constitution ?

(A) Article352 (B) Article 355
(C) Article356 (D) Article 360

‘Right to life” under Article 21 of the
Constitution does not include ‘right
to die’. This observation was made
by the Supreme Court in

(A) P.Rathinam V. Union of India
(B) Gian Kaur V. State of Punjab
(C) Both (A) and (B) above.

(D) None of the above.

A Judge of the Supreme Court can be
removed from his office on the
ground(s) of
(A) Proved
incapacity.
(B) Violation of the Constitution.
(C) Both (A) and (B) above.
(D) None of the above.

Parliament has power to legislate
with respect to a matter in the State
List, provided it is in the

(A) Public interest

(B) National interest

(C) Both (A) and (B) above

(D) None of the above

Assertion (A) : Ownership is not
only a juridical concept, but
also a social concept and an
instrument of social policy.

Reason (R) : The right of alienation
IS not a necessary incident of
ownership.

Codes :

(A) Both (A) and (R) are true and
(R) is correct explanation of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

misbhehaviour or
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9.

10.

11.

12.

Match List-1 with List-11 and select
the correct answer using the codes
given below :

List—1 List— 11
(Theory) (Subject)

(@) Retributive 1. Legal Right
Theory

(b) Sociological Il. Source of
Theory Law

(c) Theory of I11. Punishment
Precedent

(d) Theory of IV. Roscoe
Property Pond

Codes :
@ () () (d)

A I IV o

@ 1m v 1

© ) mnu (I AV

(D) v I I

Hypothesis of Grund norm was
propounded by

(A) Austin
(C) Hart

(B) Diguit
(D) Kelson

Immanuel Kant is the exponent of
(A) Retributive theory of punishment.

(B) Reformative theory of punishment.

(C) Detterent theory of punishment.

(D) Preventive theory of punishment.

Who used the word “Sociology’ for
the first time ?

(A) Auguste Comte
(B) Herbert Spencer
(C) Diguit

(D) None of the above

Paper-I1

13.

14.

15.

Which one of the

statements is true ?

(A) Animus is necessary for the
acquisition or commencement
of possession.

(B) Corpus is necessary for the
acquisition or commencement
of possession.

(C) Animus and Corpus are not
necessary from the acquisition
or commencement of
possession.

(D) Animus and Corpus are
necessary for the acquisition or
commencement of possession.

following

Which of the following statements is

true ?

1. An imperfect right may
become perfect under certain
circumstances.

2. Imperfect right can become a
valid defence.

3. Law recognises an imperfect
right but not to enforce it.

4.  Imperfect right can be reduced
as a valid defence.

(A) only1,2,3 (B) onlyl,4

(C) only2,3,4 (D) onlyl4,3

Assertion (A) : The United Nations
cannot perform peace keeping
or peace making operations.

Reason (R) : United Nations has no
army, navy or air force of its
own.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.
(D) (A) is false, but (R) is true.
S-58-13
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13.

14.

15.

frefofad 5 & =9 a1 o W@ g 2

(A) et I AMYHR U A AT Fost
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HETFH T |

(B) et HT AYPHR U FA Tal
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. UH U AYER Fu fefa &
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T
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4. gl AUHR H A9 FEOT H
3T feaT ST G & |

(A) Fad 1,2, 3

(B) ot 1, 4

(C) ®aei2,3, 4

(D) a1, 4, 3

e (A) : 9gF T WG T
T 91 wnta T % hEE W
T et Y FehaT |

FHROT(R)  : TIT T i 30T oot
T, STeT T AT o ST R €

HT

(A) (A) @1 (R) 34T @&t & 3T (R),
(A) 1 T T

(B) (A) @ (R) SHi Wl ¥ W=
(R), (A) T Tel TILIHT & & |

(C) (A) Wl g = (R) Toid & |

(D) (A) Tord &, W= (R) &l & |
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16.

17.

“The permanent members of Security
Council have special privilege in the
voting procedure of the Security
Council in as much as the decisions
of Security Council on non-
procedural matters shall be made by
an affirmative vote of nine members
including the concurring votes of the
permanent members.”

Above statement is attributed
to of the Charter of the United
Nations.

(A) Article 27, Para 3
(B) Article 27, Para 2
(C) Article 26
(D) Article 28

Match List-1 with List-1l and select
the correct answer using the codes
given below :

List— 1| List— 11
(i) Custom (@) P.C. Corbett
begins where
usage ends.

(if) The Statute of
International

(b) J.G.
Introduction

Court of to Inter-
Justice, Article national Law,
38, Para lis P.40

about.

(iii) “Custom’ (c) Treaty and
should be Custom as
replaced by sources  of
word International
‘evidence’. Law.

(iv) Law making (d) Brierly, Law
treaties. of  Nations,

P. 58

Codes :

(i) (i) (i) (iv)

(A () (© (@@ (@
B) (© B (@ (@
€ @© ® O @
O) @ @® @ (©

Paper-I1

Starke,

18.

19.

20.

Assertion (A) : Arbitration is the
process of resolving disputes
petween States by means of an
arbitral tribunal appointed by
the parties.

Reason (R) : Disputes are arbitrary.

Codes : _

(A) (A) and (R) are true and (R) is
the correct explanation of (A).

(B) (A) and (R) are true, but (R) is
n/(b)\t the correct explanation of

(9] gAg is true, but (R) is false.

(D) (A) is false, but (R) is true.

Match List-I with List-Il and select
the correct answer using the codes

given below :
List—1 List— 11
(@) To maintain (i) Article 1 of
international the UN
peace and Charter
security
(b) Principlesof (i) Article 2 of
UN the UN
Charter
(c) Admissionof  (iii)Article 12
new members of the UN
to UN Charter
(d) Limits on (iv) Article 4 of
powers of the UN
General Charter
Assembly in
respect of any
dispute.
Codes :
i i) (i) (iv)
c d

A) (a b

B b c d a

C a b d C
(D) (c) (d) (b) (a)

Stimson’s  doctrine  of  Non-

Recognition is related to

(A) Duty of non-recognition of
some territorial acquisitions
brought about in accordance
with International law.

(B) Duty of non-recognition of
some territorial acquisitions
brought about in breach of
international law.

(C) Duty of non-recognition of all
territorial acquisitions brought
about in breach of international
law.

(D) Duty of non-recognition of all
territorial acquisitions brought
iabout according to international
aw.

S-58-13
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18.

19.

20.
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21.

22.

23.

24,

25.

Prohibited degree and
relationship are

(A) Mutually exclusive

(B) Dependent on each other
(C) May overlap each other
(D) None of the above

Spinda

In which of the following case, the

High Court held that “the presence of

Qazi” is not necessary at the time of

marriage ceremony under the Muslim

Law ?

(A) Qazi Mohd. Najmuddin
Hussain V. State of A.P.

(B) Mohd. Yunus V. Malooki

(C) Shamim Ara V. State of U.P.

(D) Bai Tahira Vs. Ali Hussain

Assertion (A) : Marriage under the
Hindu Marriage Act, 1955 is

dissoluble.

Reason (R) Marriage is a
sacrosanct union.

Codes :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are false.
(C) (A)istrue, but (R) is false.
(D) (A) is false, but (R) is true.

Which of the following is not
condition for a marriage under
Section 5 of the Hindu Marriage Act,
19557

(A) Neither should have a living
spouse.

(B) If the bride is below 18, the
consent of her guardian has
been obtained.

(C) They are not within prohibited
degrees relationship.

(D) Neither should be subject to
recurrent attack of insanity.

Sources of Muslim Law are

(@ TheKoran (b) The Ismaa
(c) TheHadis (d) The Kiyas
Indicate their correct sequence.

(A) (a), (b), (d) and (c)

(B) (a), (c), (b) and (d)

(C) (a),(d), (c)and (b)

(D) None of the above

Paper-I1

26.

27.

28.

29.

According to Muslim Law, marriage
is not solemnised of only for the

sexual enjoyment between two
spouses, it is an act of Ibadat.

(A) True

(B) False

(C) Partly true, partly false
(D) None of the above

X invites his friend Y on dinner but
later on declined to arrange it on
specified day.

(A) X is liable for breach of
contract.

(B) X is liable, if Y goes to the
house of X and returns without
dinner.

(C) X is liable for breach of
contract, if Y gets dinner in
hotel.

(D) X is not liable for breach of
contract.

Match List-1 with List-1l and select
the correct answer using the codes
given below the lists.

List— 1| List—11
(@) Breachof 1. Impossible to
contract perform
(b) Revocation 2. Same thing in
of offer the same
sense

(c) Consent 3. Compensation
(d) Frustration 4. Lapse of
stipulated time
Codes :
(@ () () (@)
A 1 3 4 2
B) 2 4 1 3
C) 3 1 2 4
(D) 3 4 2 1

Which one of the following provisions of
the Indian Contract Act deals with the
reciprocal promise to do things legal and
also other things illegal ?

(A) Section56 (B) Section 57
(C) Section58 (D) Section 17

S-58-13



21.

22.

23.

24,

25.
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27.

28.

29.
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(A) &

(B) Teid

(C) oiifers &9 & WEN, 3HivF w7 9

TTeAd
(D) S H | HIE &l

X 10 i Y ol ST O STfed e &

=] a9 FERT &9 W 39 9IS i g6

FA YA FIATE |

(A) X dferT 97 % ford FeRR € |

(B) A Y, X & =R Sl & o et
fopd fomm =&t ¥ <liear € 4 X
TR 2 |

(C) A Y Bead H @HT @ €, af X
et o % ford R 8 |

(D) X HfesT 97 % ford FeRR @i & |

Tt — | g - 11 | gAfed sifs> o

TS e ¥ TEl I B T Hifo
=it - | =t - 1
(a) GET T 1. UTeH STI9 BT
(b) W@ w2, @& S 39
q T
(c) FeHfd 3. efagfa
(d) RTe= 4. Truifa au=
A e
S
@ () () ()
A 1 3 4 2
B 2 4 1 3
© 3 1 2 4
D) 3 4 2 1

TR GfeRT atfutam &1 Fetatga §
q P @ UEYE fafas O WA aen
FT T Y WS B O FA

TR UiaRT d Y Tl ¢ ?
(A) o156 (B) w157
(C) T 58 (D) R 17
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30.

31.

32.

33.

34.

Section 26 of the Indian Contract Act

declares the agreement void on the

ground of

(A) Absolute restraint only

(B) Partial restraint only

(C) Both absolute or
restraint

(D) None of the above

No customer in a thousand ever read
the conditions. If he had stopped to do,
he would have missed the train or the
boat. This observation was made by
(A) Anson (B) Donaldson
(C) Lord Denning (D) Pearson

When consent is given due to
mistake, an agreement will be
(A) Voidable (B) Legal
(C) Hlegal (D) Void

A person is responsible in law of tort for

(A) all the consequences of his act.

(B) all the consequences which are
not remote.

(C) all the consequences which
directly flow from his act.

(D) all the consequences which are
reasonably foreseeable.

There is a school by the side of the
road. Three children of nursery class
stray away from the school on to the
road. A truck driver, who was driving
the truck at a normal speed, notices
the children. While trying to save the
children, the truck hits a shop and an
injury is caused to one person. Which
of the following assertions correctly
represent the law ?

(A) The school management is
liable as they are negligent in
not keeping the children within
the school premises.

(B) The truck driver is liable as he
did not take proper care.

(C) The children are liable as they
contributed to the accident.

(D) None is liable as it is a pure
accident.

partial
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35.

36.

Match List-1 with List-1l. Use the
code below to select the right answer.

List— 1 List—11
a. Donoghue V. 1. Remoteness
Stevenson of damages
b. Inre Polemis 2. Absolute
liability
c. M.C.MehtaV. 3. Neighbour
Union of India principle

d. Lloyd V. Grace 4. Vicarious

Smith & Co. liability
Codes :
a b c d
A 2 3 4 1
(B) 2 3 1 4
C) 3 1 4 2
) 3 1 2 4

When an injury is caused by the act
of an enterprise engaged in a
hazardous or inherently dangerous
activity, the enterprise is absolutely
liable for the injury because

1. it has not taken reasonable care.

2. the enterprise owes an absolute
and non-delegable duty to the
community to ensure that no harm
results from the activity.

3. it is considered as a part of the
social cost for carrying on the
hazardous or inherently dangerous
activity.

4. it is difficult to prove lack of care
on the part of enterprise.

Select the right code :
(A) 1and 2 are correct.
(B) 1 and 4 are correct.
(C) 1and 3 are correct.
(D) 2and 3 are correct.
S-58-13



30.

31.

32.

33.

34.

IR GlegT TUHag & 9RT 26 R
I 9T St et &

(A) e JUT FeRIY o SR T

(B) hacT 3Tif¥Teh TRy & 3TMER T
(C) YOl T AT ST SR T
(D) S § | HiE el

“TSRI W W HIE Al IUHIT It B Tél
Tedl § | A 9% UET 9 % ol ®h
&, df SER ME AT A9 Ve
ST 1”7 I e TR fohar ar 9

(A) T (B) THIeEHA
(C) e eFm (D) fuE=

STe Thdl R | WeHtd goT 9 S TS @,
ar I8 HIR &
(A) I (B) o

(D) ==

(C) @y

T A & FId Uk AT SRR

BT &

(A) 3T HE % G TS % T

(B) 37 @t ST o feTw ST et = &

(C) 3TF T W YT Scq=1 Ot Fefroi
% forg

(D) foosgds SFHAM TU& AdiSt &
ferw

Teh & fFIR Ueh foammerd € | T4 T &
T B Fesh W Heohd TR 9 | T 2
e, ST 2 WM T F Tl T T,
&I ST 3T ST € | S=dl o S9H o
2% Ueh S ol 2R AR a1 ¢ 3T U
AT ST & S § | Fetared 0 d
I T feThe S T AT el & 2
(A) formem ey SRR © EbiE o
I Sl W famerEm uEmor |
R &l TG T AR S |
T gER SRR € Fife 38
gfad Qa7 X |

oot R € itk geeAT 3!
T T T |

FiE TEER &l € Fifh T8 5
THSATE |

(B)
(©)
(D)
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35.

36.

gEt - | @ gE - 1l % Sy gaferd

FHIT qAT A T T i A FErE 9

aﬁwqﬁw:
= - | = - 1

a. SAMSAE 1. &fd Sl g
g

b. FIUMmE 2. YT T

c. W Hgar 3. s fag
T 9RA 9

d. @ge s "
7 fy uvg
HAT

S

4, it i

(A)
(B)
(©)
(D)

w w NN D
P P W W T
N A B O
A DN B R O

et ferdlt STifE® S A1 WAt Ui aret
fFaTRed H Ford TRl SAmawns

Hfaem % fFdt w3 T fHE o FE 9T

ST €, O ST o oF e ot

TRR grar & =i

1. 3& St WeemE T8 S |

2. Wded W WEE % Ud T©
gHfea &3 & o qen
JITENSHIT cfed & foh 39k 1 9
TR h HIE & T 6 |

3. SifEH W AT GAAE U aret
HE & G Bl FHNT & UG
T qET AT E |

4. I Qiiad T Hied & 6 ufaen

J HEHT SR | S |
T hIE T :
(A) 1Tdm2E e |
(B) 1dm4T e |
(C) 1aM3TE |
(D) 2TM3TE |
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37.

38.

D employs a driver Z to drive his car.

D specifically instructs the driver not

to drive fast and in no case exceed

the speed of 50 kms per hour. Z

exceeds the limit and causes the

accident in which P is injured. In an
action against D for damages

(A) D is not vicariously liable for
the act of the driver because the
driver acted against the express
instructions of his master.

(B) D is not liable as the act of the
driver was not done during the
course of employment.

(C) D is liable as the driver was
doing an authorised act in an
unauthorised manner.

(D) D is not liable as there was
contract for service between D
and the driver.

Due to the negligence of the owners of
a well, it was filled with poisonous
gases and two of the employees were
trapped inside the well. B, an expert in
disaster management in such situation,
was called to rescue the two employees.
B decided to go inside the well with the
help of a rope in order to save the
employees trapped in the well. He was
warned of the risk involved. Despite all
this B went inside the well and was
overcome by the gases. He was taken to
hospital where he died. B’s wife sued
the owners of the well for
compensation.

(A) Owners are not liable because
maxim volunti non fit injuria
applies.

(B) Ownersare not liable because B was
an expert and master of his trade.

(C) Owners are liable because the
act of B was the natural and
probable  consequence  of
owner’s negligent act.

(D) Owners are liable because B died
while being engaged by them.

Paper-I1
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39.

40.

41.

42.

Malignantly and maliciously are
synonyms. There is only one
provision of Indian Penal Code
which covers both the aspect.
Provide the correct answer :

(A) Section 153 (B) Section 270
(C) Section219 (D) Section 220

The Indian Penal Code no more
denote a positive evil intent for fixing
liability, however there are certain
type of act which signifies want of
care as culpable resulting out of
breach of duty. What it is known as ?

(A) Rashly

(B) Negligently

(C) Both (A) and (B)

(D) None of them

Assertion (A) : Common intention
implies a pre-arranged plan, prior
meeting of minds and prior
consultation between all the
persons committing the crime.

Reason (R) : The law makes no
distinction between the persons
or the part played by them in
doing the criminal act.

Codes :

(A) (A)istrue and (R) is false.

(B) (A) and (R) are both true, but
(R) is not the correct
explanation of (A).

(C) (A)isfalse and (R) is true.

(D) Both (A) and (R) are true and (R)
Is most nearest explanation of (A).

Assertion (A) : Culpable homicide
becomes murder when the act
causes death and is done with
the intention of causing death.

Reason (R) : One of the conditions
to be satisfied for treating it

murder provide the injury
intended to be inflicted is
sufficient in the ordinary

course of nature to cause death.

Codes :

(A) (A) is true, but (R) is not the
reason.

(B) (A) and (R) are both true, but
(R) is not the correct
explanation of (A).

(C) (A)isfalse and (R) is true.

(D) Both (A) and (R) are true and
(R) is the  reasonable
explanation of (A).
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37.

38.

‘TP T U BR TAN o T Th FEeR
‘Sg’ H g R | S 7 gReER @i
Iz fafere w9 ¥ a9 {3 1 o ot ifa
¥ F 9o g O SR H T
50 fop.H. Ufq 502 & s T &t | Sie” A
50 T ufd gue = 1fd ¥ o1 a9
PR TE EE e gE e
A g3 | ‘S’ o % &I o 31 |
(A) TER & FA & U S wiatras

w ¥ SRR @ € Fife grar 3

3T T 9T & foeg g Topea |

(B) 2 HER Tl § Hifh greex A
e HE Ao & IR Tl R |

(C) T FIeR & Hifh TER TH
fupa H B 3M-MFHd &1 |
HT T AT |

(D) B MPRR F& ¢ e S q
SIEeR & o Qe e o |

Tk U &% HifcAH Hl ATRETE! & HROT
FU H Sefell 1Y 9 T T2 FE & 37T
T HEAR BF T | 39 URiEfd 9 ‘B’
JMURT-Tee | foerst st gHT HH=anat
H FAH & foTT Jorrar T | FU H 6l
FHEARAT i T & AT ‘B’ 7 Th T
H GeFd & FC A IRA H 0
T | Ed Tfed @O 9 3T A H
feam o | 3 wae eS| ‘B’ 0
% WA T FAT STellelt TE & T §
3T | 3 AT o ST AT ST 9
W | ‘B’ H Ol A Ui & o
FU & HifeThl T THAT fHaT |
(A) T NESR & & i aerver
T fthe ST o] eI € |
(B) wifels RHER & & it ‘B’
3T S | Ta9es 3R Fgur e |
(C) wifetsh g & ‘B’ 3 St fopa
IE WesT o qAT Wit i
ATRETET ST FATTed AT &7 |

(D) wifets SR € ifw ‘B’ @
T 3T HH & N gg T
o S7Ri= 39 S T e |
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39.

40.

41.

42.

et i gyt e v ¥

TR g0 Giedr 1 Uk & Uread g

U AN &I & | Tel STl T DT

(A) =153 (B) ©RT270
(C) mT219 (D) ©RT 220
TR gug Giear 319 Saed & HuiRa

FH F [T TERIHAS G AR R
ATy @l odl, TEY hded i
T ¥ SO @ H HH 9
T 5 e AT IUT H 31 €,
T HT TR € 2

(A) aEeTT o

(B) SUETIH ,

(C) S (A) T (B) SHI

(D) TA9 & FIE &

B (A) 9= S e
Fafe A, AREShl 6
faem iR oty H e
At % s T e € 1
% (R) : STRITYH FeT B B
AT AT ST 3k FRT ST
T fE T gfe T SE & 9
ST FRHT TR T 0T el L |
He
(A) (A) I & AR (R) Terd & |
(B) (A) 3R (R) 3HI W&l & W= (A)
H (R) Tl = 7 € |

(C) (A) T g 3R (R) el ¢ |

(D) (A) 3R (R) 3T W&l & 3T (A)
1 (R) Feheam =@ € |

AHHYA (A) : TRIEF T7a a9 a9
T DT GOT H AT & ST 39 P
T g o I § AR 39 FF B
ST & AR o 39 9 foRer T |

& (R) .39 FT H A A F
ToTe wes o1d 9% & fof T o effa
TEATE TS &, IF W ok T UehH
H g T AT HROT & Febell & |

He

(A) (A) Tl &, T (R) HROT TRl & |

(B) (A) @R (R) 3HI W&l & W= (A)

® (R) W&t AR TR & |

(C) (A) 7o € 3iX (R) Wl € |

(D) (A) 3R (R) 3T el & 31X (A)

&l (R) 3fod =R ¥ |
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43.

44,

45,

46.

An agreement of which either the
object or the means employed are
illegal, but does not itself constitute
an offence is known as

(A) Intimidation (B) Conspiracy
(C) Abetment (D) All of them

The act of causing death to a person
who has committed or attempted to
commit house breaking by night is
known as

(A) Marginal excess of right to
private defence.

(B) Purported exercise of right of
self defence.

(C) Murder
(D) No detached objectivity would

be possible to weigh the
culpability.

A Seven Judges Bench of the
Supreme Court considered the scope
of Industry and laid down a Triple
Test Formula in one of the following
cases :

(A) State of Bombay Vs Bombay
Hospital Mazdoor Sabha, AIR
1960 SC.

(B) Bangalore Water Supply Vs. A.
Rajappa, AIR 1978 SC.

(C) D.N. Bannerji Vs. P.R.
Mukherjee, AIR 1953 SC.

(D) University of Delhi Vs.
Ramnath, AIR 1963 SC.

Out of the following one of the modes is
not a dispute settlement under the
Industrial Dispute Act, 1947.

(A) Conciliation

(B) Adjudication

(C) Alternate Dispute Resolution
(D) Arbitration

47.

48.

49.

50.
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The qualifications of a person who
cannot be appointed as presiding
officer of the Labour Court.

(A) He is or has been a Judge of a
High Court.

(B) He has for a period of not less
than three years, been a District
Judge or an Additional District
Judge.

(C) He has been Civil Judge for 2
years.

(D) He has held any Judicial Office
in India for not less than seven
years.

The Registrar cannot withdraw or

cancel registration of a Trade Union if

(A) the application of the Trade
Union is in the proper form on
verification.

(B) the certificate of registration has
been obtained by fraud or mistake.

(C) the Trade Union has ceased to exist.

(D) the Trade Union has wilfully
after a notice from the
Registrar ~ contravened  the
Provisions of the Act.

Any person who has attained the
following age may be a member of a
registered Trade Union.

(A) 18 years (B) 17 years
(C) 16 years (D) 15 years

The workmen are not entitled to lay
off compensation in one of the
following cases :

(A) An industrial establishment in
which less than fifty workmen
on an average per working day
have been employed.

(B) An industrial establishment in
which less than one hundred
workmen on an average per
working day have been employed.

(C) An industrial establishment in
which less than two hundred
and fifty workmen on an
average per working day have
been employed.

(D) An industrial establishment in
which less than five hundred
workmen on an average per
working day have been employed.
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43.

44,

45.

46.

T TR SHH 39T 3T¥a 9 A
TT WET TREFA 8, W T S 3T
Y | &8 IS Y 7 97, 39 Fed &

(A) T (B) wem
(C) TR (D) SHwT |l
[ & q0F W H Y AT a1t a1 AT

T TATT T ool ST hl Bl hi hl

HET ST &

(A) =T g & AMUER FH G
ST |

(B) @ G&T & AUHR HT arcarad
TN T |

(C) &=

(D) TEITAT T ST % [T T -
T Sver T & |

ITAAH A H 9 Sl @l e A

M & FE e W R fm e

Frefefad oett & @ ww o BroRieror

AT R

(A) T=EE T TAH TEE ST
HSIGY |, T 378 31 1960 SC

AR ST MY S T ISToT
T 3% 3R 1978 SC

A TSN T 0 AR g
T 3% 3R 1953 SC

fooett  fovaformem sam &
T 37T 3TN 1963 SC

(B)
(©)

(D)

fAfafad 5 9 &9 @ Uh i
foame etfufram, 1947 & ni= foarg =
e =i & 2

(A) e

(B) =mAforEA

(C) 3rIwedt foamg wame

(D) wreEm
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47.

48.

49.

50.

ol =l 1 Tohe STavTes 3T 3

AT 7 & % BRI A DI T TR

3teprdt Tyt =7&t fopa T w2

(A) 3 9% ST T H SN ©
37 ST ETE |

(B) @& o I8t | HH Tal Bl Y &
oo o —=mardier et SAfaRed
fStem =mameder w1 &

(C) e sl o % fou fafaet ST w1 & |

(D) 9RT H 7 99 ¥ Y & G99 & fo1w
fopdt =nfaes o5 W @I &l |

TR fHdl 99 99 & USeOT
MGG 37T T el HY Tl AS

(A) < g N WA U S ISt &
T W T H § |
USTIehYoT 7 Gicithehe &g 3Tl
TToAet 9 ot foham T @ |

9 GG 1 Aed & GH & T
il

TR & Afed & 9= oFf 5
T A e T st %
T ol Sooie foham &l |

(B)
(©)
(D)

FE O AT FfetEd 7 d fRdl U
Mg H TH W USIhd o T H TG
& T €

(A) 18 a9 (B) 1739
(C) 16a (D) 159
frfatea # 9 foa Ame § HIfEh o

SHIIETE! ST T3TIESTT o ol TR el & 2

(A) TEr 3T e S 50 ¥ 99

Fe 3iga wid w@ fgag & o
FreRll WE |

o afieiTes den w100 §
Y S EaT afd S fgaq &
o el wWE |

o 3T T fEE 250 ¥ %9
HiheR i ufd & feag & fo
I WA |

o 3t e fSEE 500 9 %9
Hifer 3T Ui wE Gag & fou
I WA |

(B)

(©)

(D)
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